Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

1) A pole was supposed to be 20 meters long, but it was accidentally made 26,8 meters long.

The pole is percent longer than it needs to be. L.
2.
2) A store sold 13 dollars worth of gift cards in October. The next month the goal was to sell
§16,38 worth of gift cards. This is an increase of percent. 3.
4.
3) {BVAR} used to have §430 in the bank but after a year the amount increased to §498,8.
This was an increase of %. 5.
6.
4) Hrpa o6b1uno crout 51, Ho {GVAR} MCIIOIB30Ba KYIIOH M TIOIYYUII HIPY 3a 33,66.
Kymnon 0b11 Ha MPOIICHTOB. 7.
8.
S) The price for internet on a phone was §10 a month, but starting in November the price will
be §14,6 a month. This is a % increase. 9.
10.

6) BecHnoii cpequuii 6as 1o nucty aenenus oui1 85. Ho emme ocenpo cpeauii 6amn Obut
HOMB. Or1ienka 3a oceHb ObLIa Ha % HIKE, 4EM 3a BECHY.

7) At arestaurant the bill came to §78. If you leave §113,88, what percent tip is that?

8) Cempba {GVAR} pemmia oTKa3arbes OT KabeIbHOIO TeleBHAeH s . [IepBOHAYaIbHO OHU
wiatwin 87 3a teneBuaeHue, Miurepuet u tenedoH, HO Ternepb OHM IIaTAT 67,86
nosutapoB. Ha kakoli IpOLEHT yMEHbIIWICS CUeT?

9) A library normally collected §37 in fees a month. But in March they collected §42,18.
What is the percent increase in the number of fees collected in March?

10) B nponwiom mecsiie {BVAR} notpatuin Ha urpbl 59 nouiapos. B atom Mecsiie on
notpatui Beero § 38,94. B aTom Mecsiie OH NOTpaTuiI Ha MPOIEHTOB MEHBIIIE.
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ﬂh I/I3yquI/Ie IMPOLCHTHOT'O YBCIIMYCHNA 1 YMCHBIICHU Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) A pole was supposed to be 20 meters long, but it was accidentally made 26,8 meters long.
The pole is percent longer than it needs to be. L. 34
2. 26
2) A store sold 13 dollars worth of gift cards in October. The next month the goal was to sell
§16,38 worth of gift cards. This is an increase of percent. 3. 16
4. 34
3) {BVAR} used to have §430 in the bank but after a year the amount increased to §498,8.
This was an increase of %. 5. 46
6. 12
4) Hrpa o6b1uno crout 51, Ho {GVAR} MCIIOIB30Ba KYIIOH M TIOIYYUII HIPY 3a 33,66.
Kymnon 0b11 Ha IIPOLIEHTOB. 7. 46
8. 22
S) The price for internet on a phone was §10 a month, but starting in November the price will
be §14,6 a month. This is a % increase. 9. 14
10, 34

6) BecHnoii cpequuii 6as 1o nucty aenenus oui1 85. Ho emme ocenpo cpeauii 6amn Obut
HOMB. Or1ienka 3a oceHb ObLIa Ha % HIKE, 4EM 3a BECHY.

7) At arestaurant the bill came to §78. If you leave §113,88, what percent tip is that?

8) Cembs {GVAR} pemmsia oTka3aThCs OT KaOEILHOTO TeseBUieHus. [IepBoHavYaIbHO OHU
wiatwin 87 3a teneBuaeHue, MIHTepHeT u TenedoH, HO Tenepb OHM IIatAT 67,86
nosutapoB. Ha kakoi MpOLEHT yMEHbUIWICS CUeT?

9) A library normally collected §37 in fees a month. But in March they collected §42,18.
What is the percent increase in the number of fees collected in March?

10) B nponwiom mecsiie {BVAR} notpatuin Ha urpbl 59 nouiapos. B atom Mecsiie on
notpatui Beero § 38,94. B aTom Mecsiie OH NOTpaTuiI Ha MPOIEHTOB MEHBIIIE.
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Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

16 14 22 34 12
26 34 34 46 46 1.

1) A pole was supposed to be 20 meters long, but it was accidentally made 26,8 meters long.

2.
The pole is percent longer than it needs to be.
3.
2) A store sold 13 dollars worth of gift cards in October. The next month the goal was to sell
§16,38 worth of gift cards. This is an increase of percent. 4.
5.
3) {BVAR} used to have §430 in the bank but after a year the amount increased to §498,8.
This was an increase of %. 6.
7.
4) Urpa o6b1uno0 crout 51, Ho {GVAR} Mcnons30Bai KymoH M IOIYYHI Urpy 3a 33,66.
Kynon 6b11 Ha IIPOLIEHTOB. 8.
9.
5) The price for internet on a phone was §10 a month, but starting in November the price will
be §14,6 a month. This is a % increase. 0

6) BecHnoii cpequuii 6as o nucty aenenus o1 85. Ho eme oceHpo cpeqauil 6amn Obit
HOMB. O1ienka 3a ocedb Oblia Ha % HIXeE, 4eM 3a BECHY.

7) At a restaurant the bill came to §78. If you leave §113,88, what percent tip is that?

8) Cembs {GVAR} pemmia oTka3aTbes OT KabeIbHOro TeseBuieHus. [lepBoHadyaiIbHO OHU
wiatwin 87 3a teneBuaeHue, MIHTepHeT u TenedoH, HO Tenepb OHM IIatAT 67,86
JosutapoB. Ha kakoi MpOLEHT yMEHbUIWICS CYeT?

9) A library normally collected §37 in fees a month. But in March they collected §42,18.
What is the percent increase in the number of fees collected in March?

10) B mporwiom mecsiiie {BVAR} motpatun Ha urpbl 59 gosiapos. B atom mecsiie o
notpatui Beero § 38,94. B aToM Mecsliie OH moTpaTui Ha MIPOLIEHTOB MEHBLIE.

ye N B P 1-10 {9080 |70[60]|50]|40(30]{20]|10( O
MaTteMaTHKa O0J1er4yeHHbIA BAPHAHT 9 [90[80]70[60]50[40][30[20]10]0 |
www.CommonCoreSheets.ru




	Рабочий лист
	Ключ к правильным ответам
	рабочие листы с облегченным вариантом

